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Choose the correct answer to each question
and write it out. (3 marks each)

Where is the baby playing?
a) The baby is Playing in the playhouse.
b) The baby is playing on the swing.

Who is pushing the girl on the swing?
a) The boy is pushing the girl on
the swing.
b) Mum is pushing the girl on
the swing.

How many children are on the roundabout?

a) There are two children on the
roundabout.

b) There are three children on the
roundabout.

Where is the dog sitting?
a) The dog is sitting by the gate.
b) The dog is sitting by the playhouse.

Where is the football?
a) The football is under the see-saw.
b) The football is under the slide.




